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44- I  know a per son who t hinks he is t he best  in t he class and ever y body should

like him . Act ually he is ver y …….………...  .

)gener ous )self ish )ner vous )pleasant

45- I  saw my school t eacher s …….…….car s near  t he wall ……………. our  school  yar d

on ………………..  .

) –of  - Sunday )  – of - Sundays

) s – of  - Sunday ) s - s –Sunday

46-which one is not  correct?

)He put  t he plat es on t he t able last  night .

) She makes special meal  ever y year .

) I  am not  never  lat e f or  school.

)My f r iends ar e wat ching t he f ir ewor ks .
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47- A: List en car ef ully !  I  t hink  someone …... t he piano. Do you hear  …?

B:I  don’t  t hink so .

) plays - t hem )is playing - it

) ar e playing - t hem ) plays - it

48-  I n our  count r y ,on Yalda Night , People celebr at e t he …………………………...

) shor t est  night  of  t he year )t he longest  night  of  spr ing

)shor t est  night  of  f all )longest  night  of  t he year

49- How many mist akes ar e t her e in t his passage  ?

  Last  week my f r iend invit ed me t o a village near  a r iver . Ther e was t all t r ees

and beaut if ul f lower s .The wat er  of  t he r iver  wer e clean and cool. We not  use

our  comput er s or  mobiles a lot . But  we enj oy t he t r ip.

)t wo )t hree )f our )f ive

50- All t he player s …………………t he nat ional ant hem  of  t heir  count r ies

…………………t he games.

)r ead-af t er )read-bef ore )sing-bef ore )sing-af t er
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